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Q1. Consider the two bad hash functions given below, used to hash a string. Try to insert three strings: “bucket”, “Lupoli” and “New York” into a hash table with size 13






Hash1
	String
	Hash value
	Table index (mod the table size)

	bucket
	
	

	Lupoli
	
	

	New York
	
	



Hash2
	String
	Hash value
	Table index (mod the table size)

	bucket
	
	

	Lupoli
	
	

	New York
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unsigned   int   hash1( const   std::string&  key )   {     unsigned   int   val = 0;     for   ( int   i = 0; i <  key .size(); ++i)     {       val += i +  key [i];     }     return   val;   }  
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unsigned   int   hash2( const   std::string&  key )   {     unsigned   int   val = 0;     for   ( int   i = 0; i <  key .size(); ++i)     {       val += i *  key [i];     }     return   val;   }  
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